APPENDIX C3

NRCS Economic Analysis Calculations
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Summary of Values, Logan Northern Canal Reconstruction EIS

Narrative

Calculation

Water and Energy savings due to gravity pressurization of system from 3100N
to 1400N, 785 acres over life of system with conversion from flood irrigation
(50% efficiency) to sprinkler systems (85% efficient). Estimated 5,900 acre-in
of water savings. Energy savings, based on Et rates, approximately 18,000
acre-in of water is needed per year, at a electric pumping cost of $4/ac-in
equals $72,376 savings to area per year, over the course of project life,

minimum 25 years, $1.8 million in today’s dollars.

Future development of gravity pressurized system to all Logan Northern water

users, 4748 acres, $10.8 million over 25 years.

Water savings due to lining of Irrigation canal, estimated 20% loss in 1.6 miles
stretch, 25 cfs savings at 90acres/cfs irrigation application, an additional 2250
acres could be brought into production. Anticipated water savings of 40%

from Sta 85+25 through Sta 243+34

Existing Irrigation canals to be used solely for storm water runoff by cities,

projected $120 to $180 million savings to communities.

Value of energy savings (due to pressurization)
for 785 acres over 50 years

Value of energy savings (due to pressurization)
for 4748 acres over 50 years

Estimated total water savings based on
prevented losses to seepage and evaporation:
20,000 acre feet per year; estimated market
value of water rights for this amount =
$120,000,000 (based on approx. market value
of $6,000/acre foot)

Value of difference in crops on 4748 acres,
irrigated versus dryland production, over 50
years

$1,522,133

$9,158,335

$120,000,000

$20,934,243

DRAFT
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